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QUESTION 1

A network administrator wants to establish an LACP link aggregation between an HP Comware switch and an HP
ProVision switch. Which settings should the administrator configure?

A. The link aggregation mode should be set to static on the Comware bridge interface, and the ProVision trunk should
be set to lacp.

B. The link aggregation mode should be set to dynamic on the Comware bridge interface, and the ProVision trunk
should be set to trunk.

C. The link aggregation mode should be set to static on the Comware bridge interface, and the ProVision trunk should
be set to trunk.

D. The link aggregation mode should be set to dynamic on the Comware bridge interface, and the ProVision trunk
should be set to lacp.

Correct Answer: D

QUESTION 2

Refer to the exhibit.

<Comware>» display paort trunk

Interface EVID VLAN passing
GE1/0/1 1 1 1, 1o, 20

What does the output indicate about GE1/0/1?

A. The interface accepts untagged traffic, which it assigns to VLAN 1. It drops traffic that is tagged for VLANs 1, 10, and
20.

B. The interface accepts untagged traffic, which it assigns to VLAN 1. It also accepts traffic that is tagged for VLANs 10
and 20.

C. The interface accepts untagged traffic, which it assigns to VLAN 1. It accepts traffic that is tagged for any VLAN
between 10 and 20.

D. The interface does not accept untagged traffic. It accepts traffic that is tagged for VLANs 1, 10, and 20.

Correct Answer: B

QUESTION 3
What is one feature that MSTP has that RSTP does not have?
A. load-sharing on redundant links

B. alternate root ports
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C. multiple designated ports per segment
D. one set of BPDUs per VLAN

Correct Answer: A

QUESTION 4

A customer is implementing a network using HP ProVision switches. Which default setting applies to the ProVision
switches?

A. All ports are disabled.

B. Routing is enabled.

C. Telnet is enabled.

D. A static IP address is assigned to VLAN 1.

Correct Answer: C

QUESTION 5

A server connects to a port on an HP Comware switch. The network administrator wants to ensure that:
Which statement describes how the administrator can accomplish this?

A. The administrator must manually configure the port as an STP edge port.

B. The administrator can lower the port\\'s root path cost to zero.

C. The administrator can accept the default behavior of auto-edge.

D. The administrator can configure the port as an MSTP master port.

Correct Answer: B
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